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| used wrong sample

» Old sample

— Ttbar samples (~200 fb! par Vs) has “1 TeV”
overlay (other samples which has 350 GeV
info. were made by Miyamoto-san. ).

— The result will be update in 2 weeks.

» New sample

— | made new sample recently.
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Analysis method

tt — DWW — bqqblv

HAYE 222 27pSD-6

OTop is identified exactly!

=Since charge tag of jets is too
difficult, isolated lepton is used for
ID of top or anti-top.

OTop or anti-top which has

hadronic decayed W are used for

cosO distribution

=Since top quark(leptonic) has
missing.
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Top tagging

* We must tag the correct top(anti-top)
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Cut for top ID

cos6,,,<-0.7, X?<10, Cos6,,<0.8

Miss tag is improve!!
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Background suppression

1200 F LIS

» For maximizing the ignificance (S

bkg. are rejected.
Stop —

) L Il tt - bggbgg -
top// 1000 |- B i > bagblv
B WW — qqqq
Bl ZZ - qqaq ]
B Zh — ggh 4
[ ALL SM bkg. ]

Nsignal 3800;—
\/Nségnal + kag. 5600;—
> # of PFOs is used except top taggin ~H400F

cut (previous page).

Left

200F @350GeV

100 150 200
# of PFOs

Left 90fb-1 - t6j  tt2j SMbkg. S, efficiency
Gen. 28501 29588 6864 18M  20.5 100
#ofl,=1 21723 939 2037 0o5M 284 76.2
cosB,y<-0.7 20275 897 1871 12187 314 71.1
X?<10 15222 148 346 2158 76.9 53.4
c0s8,,,<0.8 10913 12 14 485 102.1 38.3

# of PFOs > 50 10889 12 11 328 102.7 38.2 6
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Result for measuring Agg
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My work @ ILC group

> | will leave this group but | have still some
work.

— Arg(my activity will go down, sorry)
— Write the paper



